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SN HH - (EH) - HRAY - BES 0l &k o4 p/E-T Hl DS 2
Fe 9,011,369 9,213,857 £202,488
2 6,290,191 6,472,700 182,509
= 903,004 917,199 A14,195
Al 1,818,174 1,823,958 ~5,784
=H=N 53 7,801,168 8,003,956 A202,788
2 6,290,191 6,472,700 £182,509
< 894,004 908, 199 A 14,195
Al 616,973 623,057 £6,084
Fo UL 7,801,168 8,003,956 A202,788
2 6,290,191 6,472,700 182,509
= 894,004 908, 199 £14,195
Al 616,973 623,057 £6,084
=30 6,962,768 7,185,556 £202,788
2 6,284,491 6,467,000 182,509
= 488,794 502,989 A 14,195
Al 209,483 215,567 6,084
301 Y a3 6,262,768 6,465,556 £202,788
2 5,636,491 5,819,000 182,509
< 438,394 452,589 A14,195
Al 187,883 193,967 £6,084
01 M3l B E =452 6,262,768 6,465,556 £202,788
=20 T A 6,262,768,0008 6,262,768 6,465,556 A202,7883
2 5,636,491 5,819,000 182,509
= 438,394 452,589 A14,195
Al 187,883 193,967 6,084
HY2AFY (FLD) 86, 198 85,698 300
EET 45,672 45,372 300
EET] 45,672 45,372 300
405 THaHF St 2,800 2,500 300
01 LS EHSH 2,800 2,500 300
OPC(2LIE) 300,000 *1CH 300 0 300




